
QUIZ 7 Review 
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3) 

 

 (x + 6)(x + 3) = 0 make fractions: −
1

6
, −

1

3
   

 

4) 

 

   The solution set is ꬾ, because you cannot factor bottom 

 

5) 

 x-intercept: factor bottom        (x-3)(x+3) x = -3,3 

 set x = 0 to find y-intercept     
0−4

0−9
=

4

9
 

   (03,0),(3,0),(0, 
4

9
) 



6)  

    Cross multiply: 7(x+3) = 4(2x-1) 

       7x + 21 = 8x – 4 

        x = 25 

 

7) 

 

 

   Crosses x-axis -3 

   below the x-axis (-3,0) 

   above the x-axis (-∞,-3)U(0,∞) 

 

8) 

    Upside down 

 

 

    (x-5)(x+5) 

 

9)  

 

  u = 𝑥 −
40

𝑥
    𝑥 −

40

𝑥
= 6   𝑥 −

40

𝑥
= −3 

    u2 – 3x – 18 = 0       x2 – 40  = 6x  x2 – 40  = -3x 

    (u - 6)(x + 3) = 0   x2 – 6x  - 40 = 0  x2 + 3x  - 40 = 0 

    u = 6, -3    (x – 10)(x + 4) = 0 (x + 8)(x – 5) = 0 

        x = 10, 4, -8, 5 

 



10)                       (a) D: x ≠ 0   R: all reals 

            (b)x=-4,4, no y 

            (c) none 

            (d) x = 0 

                    use slope -6/3    (e) y = -3x 

 

11)                   (a) D: x ≠ -1   R: y ≠ 3    

            (b) x=0, y=0 

            (c) y = 3 

            (d) x = -1 

                    use slope -6/3    (e) none 

 


